The Kauffman Polynomial
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The last thing to note is that

Cio(n.c)(k disjoint circles) = N*.
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a_w(K:‘L(}{] where w(L:] is the writhe of J{~ and where L[:K'] is the regular isotopy

invariant defined by the skein relations
L(sy) = a™'L(s))
(here & is a strand and S+ is the same strand with a 4 kink added) and

L(X) + L(X) = 2 (LOO + L(X))

Problem 3. The Kauffman polynomial F(}fj(a, z) (see [Kauffman]) of a knot or link J{ is

and by the initial condition L(O] = 1. State and prove the relationship between [ and 1}/, .
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